SYDNEY GIRLS H, 3.
[9M3 —2009]

Name .
Year 9 Indices and Surds Topic Test

Time allowed: 35 minutes. : . h

Write all answers on the question paper. = | | .
Show all working. ’

Question 1 . ) (8 marks)
Simplify fully: ' ; —

a) 5x° x3x° e) 43" x(5x)"

b) Wi xx’y | |
5 f) 2x° _(31:4 - x)

c) 3%+3} é
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Question 2

(8 marks)
Simplify the following expressions by rewriting without negative or fractional indices:

(Leave irrational mumnbers with a J sign) (Show working)
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Question 3

Write the following in scientific notation, correct to 3 significant figures:

a) 0-002306 b)54.010 000 e
Question 4 , @ marké,)
~ Caleulate the following, and write the answer in scientific notation:
) 16 x 107+ 881 107 bysi6 x 107 x 4% 10°
Question 5 (14 marks)
Simplify fully: . -
@) «/Q.Ts{ @ 642 |
L 216 % 35
(b) 647 37
;/
_ B3
(o) 243 +4J13 -J343413 (
1 @ 3Jex5Vz ® (V2+7)(v2-7}
{(e) 35 %
2
0 (3r-4
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Question6 {4 marks)

Rationalise the denominators and simplify:

4 -
(a) gj—g

-

' 4

Question 7 (2 marks)
Express with a rational denominator: - .

53 =2
4+2

End of Test @
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Year 9 Indices and Surds Topic Test
Time zllowed: 35§ minutes.
Write all answers on the question paper. * {
Show all working. j A\o
Question 1 (8 marks)
Simplify fully:
a) 5%x3x° = Wubw A o) 4¥"x(x)° = Loxlx]
= 4 \ﬂ
.Uu uﬂ\nxxuu\ = Uhmu I \
Q ! f qummaplav = @.unﬁ...l Nvﬁ®\\_\
¢ 343 = 2 +
= B\ \\_ g @GP+ = 27502 5
— A2
@ &'t ra'd = ?QT \\_ = 33 . 3]
(8 mazks)

Question. 2

Simplify the following expressions by rewriting without negative or fractional indices: \.\F ;
(Leave itrational numbers with a V' sign) (Show working)
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Question 3

Write the following in scientific notation,

(2 marks) o

cortect to 3 significant figures:

8 0002306 . b)54010000 . ,
= 2.3 x10 =840 w10 @
Question 4 (2 marks)
Caleulate the following, and write the answer in scientific notation: . .
4) 1.6x107+83x10° 1) 5.6 % 107 x 4x 10° m\
) 5 w3 .NJ“.\
= .3 x\0 = 2.2% %x|0 -
Question 5 (14 marls)
Simplify fully:
@ V2B = JF T 62 2y
(e) ool & :
N1 \_ 262345 \m«?c\w\iﬂxﬁ

® &T+WT = 97

(©) WI+4f3-43+3413
=3+ 7J13

(d) 3xx5x
= | S

(@ V357
= /ﬁW..TQ...W,vr%W

= 7J5

() 124154345

= =3
s ,Wm

= 4-J3

= "fis .
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() 43 (73]
= 4JIl— 1> -1
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— (D) =7"
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= —47 2
o (37-4)
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